124,

125.

126.

127.

128.

129.

130.

131.

132.

133.

134,

135.

136.
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D)

(A)

(D)
(A)

(B}
(C)

(D)

(C)

(D)

(A)

(D)
(A)
(B)
(C)
(C)

Correct. services
(B}, (C} and (D) are all similar sounding wards, but
do not form common collocations.

Correct. their
(A), (B) and (C) are not the possessive form.

Correct. In case of

In case of an emergency is a common
collacation.

(B, (C) and (D) are not common collocations.

Correct. not onfy

only in the first clause would not aliow extra
features in the second.

also implies as well, but there is nothing
previously mentioned.

The second clause does not follow on logically it
Incredibly is used.

Correct. Judging

(A), (B) and (D) do not mean based on or
according to and so do not make logical
sentences.

Correct. prize

winners will get two tickets, they will not be two
tickets.

results does not logically lead on to twa tickets.
chorice is not a logical word here.

Carrect. but

no chaice but to... is a comman construction.
{A), (B} and (C) do not form commaon
constructions.

Correct. Whoever

(A} and (B) need a relative pronoun to make a
logical construction.

Whorn is used as the abject, not the subject.

Correct. make

Be sure to (do something) is a common
collocation.

(&), (C) and (D) do not form collocations.

Correct. construction of
This structure requires of which (B), (C) and (D) do
not have.

Correct. Despite

requires of or a full clause.

requires a clause,

does not make a possible sentence,

Carrect. are reminded
{A), (B} and (D) are active and do not follow the
construction remind + obfect + infinitive.

Correct. reflect
(A), (B} and (C) do not make common collocations
nor logical sentences.
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137. (D) Correct. retiring
(A} (B)and (C) are not in the present participle
form required here,

138. (B) Correct, settle
Settle out of court is a comman collocation.,
{A), (C) and (D) do not form commen collocations.

139. (A) Correct based on
(B} does not make a commeon collocation.
(Cj and (D) are nat past participles; a past
participle is required here.

140. (A} Correct. guotas

(B}, (C) and (D) are all incorrect forms that do not
make callocations.

PART 6

141, (C) Correct. projected
(A), (B) and (D) are not past participles and da not
match this gap.

142. (A) Correct. cleaning
{B), (C) and (D) are incorrect forms and do not
make possible sentences.

143.

i

Correct. appears

is to be is not logical here.

hasn't to be is not a possible construction.
the cable guide is not a logical subject for
discovered.

EAGR=R:

144. (A) Correct. in
in stock is a common collocation.
(B}, (C) and (D) do not make common
collocations.

145. (D) Correct. tasty

(A) forms an active verb /s tasting, cereals cannot
tasta:

(B) is more used to describe clothes or furniture than
food.

(C) isan incorrect form in this context.

146. (A) Correct. found
(B), (C) and (D) do not complete the passive
construction are ... found.

147. (C) Correct. rich
To be rich in is a common collocation.
{A). (B} and (D) do not form common collocations.

148. (C) Correct. by using
by is reguired to show the method used.
(A), (8) and (D} do not have this.



150.

151.

152.

PART 7

153.

154.

155.

156.

(B)

(C)

(A)

(C)
(A)
(B}

{D)

(A)

Correct. been postponed.

the meeting ... has to postpone is not possible.
The meeting as subject cannot postpone
anything.

is not a correct verb form in this context.

the meeting ... has postponed is not possible.
The meeting as subject cannot postpone
anything.

Correct. on
Based on is a common collocation,
(A}, (C) and (D) are not possible collocations.

Correct. will be held.

(A}, (B) and (D) create active forms, The meeting
cannot da anything. A passive form is required
here.

Correct. continue
(B}, [C) and (D) require an object.

Correct. To announce a special event — The
memo mentions Casual Friday as a special event.
The only change in schedules is for this Casual
Friday, not new emplayees’ schedules.

The mema mentions business casual, not proper
business attire.

All vour hard work is mentioned, not Mr.
Waterman's hard work.

Correct. Regular business is expected to
proceed. — The phrase we still expect normal
client traffic in the office tells us this.

Shorts are mentioned, but workers do not usually
wear them.,

Traffic is mentioned, but referring to business
visitors, not downtown traffic.

This is the opposite of the correct answer.
Otherwise they might wear shorts and flip-flops.

Correct. Accounting — The phrase for the
following accounting services tells us this.
Undersigning refers to the undersigned, but this
is just an expression used to identify the people
involved in this contract.

This confuses the similar words carpentry and
Carpenter. Brendan Carpenter is one of the
people who signed the contract.

A construction company is contracting an
accounting firm to do wark, not vice versa.

Correct. $1000 pius hourly compensation - The
agreement is to pay at the hourly rate of $65 plus
8500 ... upon campletion and $500 ... if services
are completed by March 15th

(B}, {C) and (D) do not follow this agreement.

157.

158.

159.

160.

161.

(C)

(A)
B)

(o)
()

Correct. Aesources — The accountant agrees o
provide all necessary software, forms and other
materials ... at no extra cost.

The contract is for Accounting services, thisis
what he is being paid for.

Labor, meaning work done, will be paid at $65
per hour.

A bonus will be paid upon caompletion,

Correct. Outside the parent company’s home
country - The passage states that offshore refers
to outside the boundaries of the home country of
the parent campany.

Associates offshore with an island, but does not
answer the question.

Associates offshore with on board a stip, but
does not answer the questian.

Is the opposite of ouiside the boundaries.

Correct. They are sent to the country of the
parent company. — The phrase would be
imported exclusively into the US tells us this. In
this case the US is being used as an example.
Mothing suggests that products are sold in the
country in which they are produced.

The US is mentioned, but only as an example.
This passage relates to all countries.

Products may be distributed worldwide, but must
first be sent to the home country of the parent
company.

Correct. They need technical writers. - The
applicant is applying for this position, so we can
assumae this statement is true.

The applicant has had stories published in Pacific
Weekly. There is nothing to indicate that the
company is located in the Pacific.

MNothing suggests the firm produces clothes.
Restaurants only refers to the applicant's
previous work experience.

Correct. Flexible — He is willing to relocate and
states any for shift preference.

He does not seem to be overgqualified, as he has
no relevant experience and only a Liberal Aris
B.A. degree.

It is not possible to judge from his resume if he is
witty or not.

He has only produced three short stories. This is
not prolfific.

Correct. Onfine — He cites
Houstonjobmarket.com as the answer to Where
did you find out about the position?

{A) and (B) do not reflect this.

(D} is the magazine which published his short
stories.
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